Armeria-Bridgen
Tisdagsbridge omg 10 2019-04-02

Partavling, 5 bord, 10 par. Antal brickor: 24. Medel: 96.0.

Plac Par Poéng % Namn MID Klubb

1 8 116  60.42 Eva Rode - Berit Willemo 32891 32890 Armeria-Bridgen

2 4 115 59.90 Gertie Lindell - Birgitta Kjellker Nilsson 33735 92865 Ljunghusens BK - Bridgeklubben 2 Kléver

3 2 108 56.25 Gunnel Martin - Gunilla Farnstrém 93967 33118 Bridgeklubben 2 Kldver - Falsterbo BK

4 1 102 53.13 Gunilla Skdrman - Birgitta Tham 92875 52234 Falsterbo BK - Malmd Dam BK

5 3 93 48.44  Lena Thulin - Maud Ihd 32329 30191 Bridgeklubben 2 Kléver

6 9 88 45.83 Birgitta Nibell Johansson - Mona Bolin Callmar 40618 60501 Pri-Bri 1936 - BK Bridgehuset

7 7 87 45.31 Inger Sarvik - Carin Annemark 33138 92859 Falsterbo BK

8 5 86 44.79 Gunilla Winquist - Bodil Andersson 36556 36563 Armeria-Bridgen

9 10 84 43.75 Alva Pettersson - Marta Mirow 92991 38928 Bridgeklubben 2 Kldver

10 6 81 42.19 Hans Carlioth - Helena Silfverhielm 40663 37842 Armeria-Bridgen - Falsterbo BK
1 Nord Ingen 2 Ost NS 3 Syd OV 4 Vast Alla

Par Kontr Res Poang Par Kontr Res Poang Par Kontr Res Poang Par Kontr Res Poang
3 6 44V-2 100 80 00| 3 6 6NV-1 50 80 00| 9 1 3vyN= 140 70 1.0 9 2 2NO-1 100 8.0 0.0
2 4 34V-1 50 50 30| 2 4 5vV= -450 50 3.0(10 5 3v N= 140 7.0 1.0 3 5 1¢ N+1 90 6.0 2.0
7 8 44 V-1 50 50 30| 7 8 4v V+1 -450 50 30| 2 4 4v N-1 -50 3.0 50| 8 1 1¢ N= 70 4.0 4.0
10 5 24 V+1 -140 2.0 6.0(10 5 5v O+1 -480 2.0 6.0| 7 8 4v N-1 -50 3.0 50| 4 7 1laV+l -110 2.0 6.0
9 1 2NO+2 -180 00 80| 9 1 6v V= 980 0.0 80| 3 6 34 O+1 -170 0.0 80|10 6 1a V+2 -140 0.0 8.0
5 Nord NS 6 Ost OV 7 Syd Alla 8 Vst Ingen

Par Kontr Res Poéang Par Kontr Res Poéang Par Kontr Res Poéang Par Kontr Res Poéang
4 7 44 0-1 50 6.0 20| 3 5 44 N-= 130 80 00 5 8 2NO+3 -210 80 00| 4 6 34 N= 140 7.0 1.0
8 1 440-1 50 6.0 20|10 6 2¢ O= -90 6.0 20| 4 6 3NO+1 -630 4.0 40|10 7 24 S+1 140 7.0 1.0
10 6 44 0O-1 50 6.0 20| 8 1 54 N-2 -100 40 40| 9 3 3NO+1 -630 4.0 40| 5 8 3vS-1 -50 4.0 4.0
9 2 340= -140 20 60| 4 7 3¢ O= -110 1.0 70|10 7 3NO+1 -630 4.0 40| 9 3 3vS-2 -100 2.0 6.0
3 5 24 0+2 -170 00 80| 9 2 2v V= -110 10 70| 1 2 3NO+2 -660 0.0 80| 1 2 44 S-3 -150 0.0 8.0
9 Nord OV 10 Ost Alla 11 Syd Ingen 12 Vast NS

Par Kontr Res Poang Par Kontr Res Poang Par Kontr Res Poang Par Kontr Res Poang
9 3 34S-1 -50 8.0 00| 2 3 6NO-1 100 6.0 20(10 8 2¢ O-3 150 80 00 2 3 24 O+2 -170 7.0 1.0
4 6 2v 0O+l -140 6.0 20| 5 7 6NO-1 100 6.0 20| 9 4 2NN= 120 6.0 20| 5 7 34 O+1 -170 7.0 1.0
1 2 44 S-3 -150 4.0 40| 6 1 44V-1 100 6.0 20| 6 1 INS= 90 40 40(10 8 14 O+4 -200 4.0 4.0
10 7 4v V= -620 2.0 6.0(10 8 6v V= -1430 2.0 60 2 3 3NN-1 50 1.0 70| 9 4 44 0= -420 2.0 6.0
5 8 4vV+1 -650 0.0 80| 9 4 6NO= -1440 0.0 80| 5 7 2¢v N-1 -50 1.0 70| 6 1 3NV+2 -460 0.0 8.0
13 Nord Alla 14 Ost Ingen 15 Syd NS 16 Vast OV

Par Kontr Res Poang Par Kontr Res Poang Par Kontr Res Poang Par Kontr Res Poang
110 2¢vV-3 300 8.0 00| 3 4 3NS+4 520 6.0 20| 1 10 5¢ S+1 620 8.0 00| 2 10 4vy N= 420 40 4.0
9 5 24S+1 110 6.0 20| 6 8 3NS+4 520 6.0 20| 9 5 54DV-3 500 6.0 20| 4 5 4y N= 420 4.0 4.0
7 2 2NS-1 -100 4.0 40| 7 2 3NS+4 520 6.0 20| 3 4 4¢ S+2 170 40 40| 7 1 4v N= 420 4.0 4.0
3 4 24 N-2 -200 1.0 70| 1 10 2NS+4 240 20 60| 6 8 54 V-1 50 10 70| 8 3 4vy N= 420 40 4.0
6 8 24 N-2 -200 1.0 70| 9 5 3#N+4 190 00 80| 7 2 4eV-1 50 10 70| 9 6 4y N= 420 4.0 4.0
17 Nord Ingen 18 Ost NS 19 Syd OV 20 Vast Alla

Par Kontr Res Poéang Par Kontr Res Poéang Par Kontr Res Poéang Par Kontr Res Poéang
2 10 34 N-1 -50 6.0 20| 9 6 1laS+2 110 8.0 00| 8 2 34DO-2 500 8.0 00| 3 10 2NN= 120 8.0 0.0
4 5 34 N-1 50 6.0 20| 8 3 1aS+1 90 6.0 20| 1 4 24 O-1 100 50 30| 9 7 2y N= 110 6.0 2.0
8 3 34N-1 -50 6.0 20| 2 10 2NS-1 -100 3.0 50| 9 7 24 0-1 100 50 30| 5 6 INN= 90 4.0 4.0
9 6 44 N-2 -100 20 60| 4 5 34#S-1 -100 3.0 5.0| 3 10 2¢ N= 90 20 60| 8 2 3NS-2 -200 2.0 6.0
7 1 3NV+2 -460 00 80| 7 1 54#S-3 -300 00 80| 5 6 14 0= -80 0.0 80| 1 4 3NS-4 -400 0.0 8.0
21 Nord NS 22 Ost OV 23 Syd Alla 24 Vast Ingen

Par Kontr Res Poéang Par Kontr Res Poéang Par Kontr Res Poéang Par Kontr Res Poéang
8 2 2&V+2 -130 80 00| 2 5 3v0O-1 100 80 00 1 3 4v0-= -620 50 30| 1 3 4y N+1 450 7.0 1.0
9 7 3&0+2 -150 6.0 20| 4 10 4v O = -620 50 30| 2 5 4vO= -620 50 3.0| 4 10 4y N+1 450 7.0 1.0
3 10 2v O+3 -200 40 40| 6 7 4vO= -620 50 3.0 4 10 4v O= -620 50 30| 2 5 3v N+2 200 3.0 5.0
5 6 3NV= 400 2.0 60| 1 3 4v O+3 -710 20 60| 9 8 4vO= -620 50 3.0| 6 7 3v N+2 200 3.0 5.0
1 4 4vV+1 -450 0.0 80| 9 8 4vDO= -790 0.0 80| 6 7 4y O+2 -680 0.0 80| 9 8 3vy N+1 170 0.0 8.0
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